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vanis, FA 1^30 Viinls, AC ;J.")0 viinls. ami Af* .^t'.O yanls.

Diivw a (lia'Ti'.iii nl" tlic lifld <ni a scah' wlidsc it'[)ii'snita-

tivf fiactiuii is .j^' and liiid the aita.

•W. A tflt'si'o|K' is iii»^Miitt'<l so that it lias a n\U)j;(' of tlie

si-a from the cast to tlii' north. A ship sailing,' in a north-

wi'sl (lirt'ction aiijifars in \ if\v ami continiii's on the same

course Her nearest tlistanei' away was •"> miles. Kor

how many miles did she sail within vifw'.'

'n . Dt'scrilte i-c^'iiiar [icntaifuns on hases of •) and 1.]

inelifs lont^ res[iccti\cly and comiiare their aicas.

:'„S. 1 .liscrve the anv;lr of rh'vation of the to[i of a tiee

to he 1."^ and that of a talh-r tree hchind it to he iJO".

I walk :><> \ards towards ihfm, and at the point n-r hed

notice that their tops are in a strai'^ht line at a com on

I'lcvation (d' hV. Find the heights of the trees ai."! the

distance hctween tlu-m.

:}'.>. A hiiov is moored 4<M) yards from a si mv from

which the land has an upward slope, lirst of 20" to the

horizon for oOO yards, and then of o.V for 4»>(> yards. How

hi<,di ahove the huoy is the top of the slope '.' Express the

answer in (1 ) dee-rees and {'2) yaids.

40. ^1, B, and ^7 are three towns in a level country. A
is 2 miles west and o miles north f)f Ji. C is o nules west

and 8 miles .south of B. Plot these points. Measure

the distances between the towns. What direction is C

from A ?

I <

I if,
I c


